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Section - A : General Knowledge : 25 Marks

1. Read the following statements carefully and choose which of them is/are correct by using the codes given
below.
1.The length of Odisha coast is about 480kms.

~ 2. River Subarnarekha divides Odisha and west Bengal.

3. There were only six districts in Odisha when it became a separate state in 1936.
Codes:

(A) only 1 is correct (B) 1 & 3 are correct (C) 2 & 3 are correct (D) 1, 2 & 3 are correct

- Which of the following statements about Veer Surendra Sai is incorrect?
(A) Veer Surendra Sai first declared his revolt against the British regime in 1827.
(B) Veer Surendra Sai was kept in Asirgarh jail till the end of his life.

(C) Veer Surendra Sai breathed his last on 28.02.1884 at the age of 75.
(D) None of these

3. High fever, vomiting, diarrhoea, coughing, fatigue, muscle ache, abdominal pain, chest pain, eye infection,
bleeding nose and gums are initial symptoms of —

(A) Bird flu (B) Rabies (C) Dengue (D) None of these

4. The Supreme Court of India has laid down certain broad principles for the Prison Administration to

follow. Read the following statements and answer which of these is correct using the Codes given below. ﬁ
1. A person in prison should not be treated as non-person.

2. A prisoner is entitled to all human rights within the limitations of imprisonment.

3. The sufferings of prisoner inherent in the process of incarceration should not be aggravated.
Codes:

(A)1 &2 (B)z only (C)2 &3 (D)1,2 &3

5. Which of the following statements about the Prison System in India is incorrect?
(A) It comes under Item No.7 in the Union List in the 7® Schedule of the Indian Constitution.
(B) The Central Government provides guidelines and assistance to the states for maintenance of the Jails. j
(C) Madhya Pradesh has 11 Central Jails, the highest number, in India.

(D) Borstal Schools are detention centres for minors and juveniles to administer care, rehabilitation and ?;
reform for young offenders. |

|
~6/§ind out which of the following statements of Invention/Discovery, Scientist & Year is incorrect? |

SI. No. Invention/Discovery Scientist ' Year
L Revolver (Pistol) Samuel Colt, USA 1835
2 Swing Machine Elias Howe, USA 1846
3. Safety Razor—————————~Gillette, USA 1895
4, Television—————— ] . Baird, Britain 1926
9= Telescope - Pascal, Ttaly 1609
(A) SINo.2 (B) SL.No.3 (C) SI.No.4 (D) SI.No.5

7 Which of the following statements about the Cellular Jail in Port Blair is incorrect?
(A) It was built in the shape of 07 spokes of a wheel from 1896 to 1906.
(B) Initially it had 663 Cells and later 30 Cells were added. :
(©) It housed the first batch of 200 freedom fighters transported under overall charge of Dr.JP Walker with
60 Naval brigade m d two native overseers.
(D) Tormenteq bgy ?iiingnci?lditions in the jail, the prisoners sat on hunger strike for 45 days betweet
192728 iy Mahatma Gandhi and RN Tagore intervened.

\
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8. After the severe famine of 1866 in Odisha, the British authority built —

(A) The Puri Canal (B) The Kendrapada Canal
(C) The Bhadrak Canal (D) The Taladanda Canal
9- Which of the following pairs of disease and the affected part of human body is incorrect?
SLNo. Disease Part of human body {
i. Pneumonia a. bones ’
ii. Sinusitis b. lungs
iii. Typhoid c. intestine |
iv. Trachoma d. eye
\2 Tonsillitis e. glands
E
(A) Only i & ii are incorrect (B) Only i & iii are incorrect
(C) Only iii & iv are incorrect (D) Only ii & iv are incorrect 1

10, Which of the following statements about the Census data of Odisha is incorrect as per Census-2011? M |
" (A) Population of Odlsha according to 2011 census is 4.19 crore. '

{ (B) The density of population in Odisha per square kilometre is 270. 3
(C) Kandhamal district has the least density of population. ;
(D) The literacy rate is the highest in Balasore district. '

/1 1. Which of the following countries are respectively the largest producers of Tea, Wheat and Wool?

i (A) China, Bangladesh & UK (B) India, China & Australia
(C) India, Thailand & Russia (D) Bangladesh, Malaysia & USA
12. Match the following pairs of Award and its founder?
¥. Kalinga Award i) Harekrushna Mahatab :
2. Bisuba Samman ii) Biju Pattanaik ¥
3. Atibadi Jagannath Das iii) Sambalpur University
4. Gangadhar National Award iv) Srujani B
5. Guru Kelucharan Award ~ v) Odia Sahitya Academy J\
(A) 1-ii; 2-1; 3-v; 4-iii & 5-iv - (B) 1-ii; 2-1; 3-iv; 4-iii & 5-v - i
(C) 1-iv; 2-iii; 3-i; 4-ii & 5-v ‘ (D) 1-iv; 2-iii; 3-1; 4-v & 5-ii ‘
13. Which of the following series of terms and the sports they are associated with is incorrect?

(A) Bishop, Checkmate, Gambit Stalemate ; -Chess;

(B) Bully, Corner, Dribble, Scoop, Sudden death, Tie-breaker  -Hockey/Football -

(C) Knock-out, Punch, Upper cut : -Weightlifting

(D) Ashes, Bye, Chinaman, Cover Point, Crease Drive, Duck  -Cricket;

14. Given below is a column of tribes/races and another column containing the places that they inhabit. Find
out the correct answer out of the four options given below showing the correct matching between them.

SLNo. Tribes SL.No. Places

i. Garos a. Bihar
ii. Gonds b Meghalaya _
iii. Garasia c. Andaman & Nicobar !
iv. Jawas d Rajasthan i
(A) i-a; ii-d; iii-c; & iv-b (B) i-d; ii-c; iii-a; & iv-b

(C) i-b; ii-a; iii-d & iv-c (D) i-d; ii-a; iii-c; & iv-b

1. Find out the incorrect one out of the following pairs of sportsperson and the sports he/she is associated
with,
(A) Anuradha Biswal-Atletics (B) Jyoti Sunita Kullu- Hockey
(C) Valena Valentina-Chess (D) Sradhanjali Samantaray- Football
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. Icutta
16. The National Anthem, Jana, Gana, Mana, composed by Rabindranath Tagore was first sung at the Ca
. The Na , :

session of Indian National Congress on-

(A) 27" October, 1916
(C) 27" November, 1928

(B) 26™ January, 1938
(D) 27" December, 1911

17.Match the following pairs of Odia book and its author?

1. Sarala Das i) Bhagabat

2. Jagannath Das ii) Mahabharat

3. Kanhu Charan Mahanty iii) Lachhama

4. Fakir Mohan Senapati iv) Ha Anna

5. Gopinath Mohanty v) Amrutara Santana

(A) 1-i; 2-ii; 3-v; 4-iii & 5-iv (B) 1-ii; 2-i; 3-iv; 4-iii & 5-.V.
(©) 1-iv; 2-iii; 3-i; 4-ii & 5-v (D) 1-iv; 2-iii; 3-i; 4-v & 5-ii

18. Which of the following statements is/are true?
The human skeletal system consisting of 206 long, short and irregular bones help-
i stiffen the body iii) provide levers for muscles to work
ii. protect the internal organs iv) give shape to the body

(A) only i is correct (B) only i & ii are correct
(©) only i, ii & iii are correct (D) All are correct

19. Given below is a column of towns/cities and another column containing the industries they are associated
with. Find out the correct answer out of the four options given below showing the correct matching

between them. .
SLNo. Towns/cities SL1.No. Industries
1 Visakapatnam a. diesel locomotive
2. Varanasi b. ship-building
8. Kolar c: gold field
4 Sindri d. cutlery
5 Aligarh e fertilizer
(A) 1-a; 2-b; 3-c; 4-d & 5-¢ v (B) 1-d; 2-¢; 3-a; 4-b & 5-¢
(C) 1-c; 2-d; 3-b; 4-a & 5-¢ (D) 1-b; 2-a; 3-c; 4-e & 5-d

20. Which of the following is not a correct statement on the Sun Temple at Konark?
(A) It took 12years to complete. :
(B) 1200 artists were engaged to finish it.
(©) Rupees 40 crores was spent on its construction.
(D) Anangabhima Dev-III built it in memory of his victory of Bengal.

21.Find out the incorrect one of the following pairs of Central Jails and their locations.

(A) Tihar Ashram- Delhj (B) Yerwada Central Jail- Bangalore
(C) Puzhal Central Prison- Tiruvallur (D) Naini Central Prison- Allahabad

1. Odisha became a part of British Empire during the reign of Lord Wellesley.

2 Mukund-fl Dev-1I was the king of Khordha when Odisha came under the British rule in 1803. %

3éDda\hou31e Was the Governor-General of India when Sambalpur was annexed to the British Empire.
odes: s

(A) only 1 ig correct (B) 1 & 2 are correct (C) 1,2 & 3 are correct (D) none is correct
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23. Adam’s Bridge, a 28-km long bridge of rocks and sand, connects between]— st
(A) Britain & Switzerland (B) India anccl1 lga‘xllg 211( es
(C) Pakistan and India (D) India and Srilanka

24. Who were the 1% Governor Generals of Independent India and Pakistan?

Woum Batten & Md. Alli Jinnah _
(B) Chakravarty Rajagopalachari & Zulfiquar Alli Bhutto
(C) Jawaharlal Nehru & Khan Abdul Gaffr Khan
(D) None of these

25. Which of the following statements about Indira Gandhi is false?
(A) She was the wife of Feroz Gandhi.
(B) She was the Prime Minister of India from 1966-77 and 1980-84. _
(C) She joined Congress Party in 1938 and was imprisoned for 11 months in 1942
(D) She died a natural death on 31% October, 1984.

Section - B : English Language : 25 Marks

26. He said to me, “Wait until [ come’. (Change the sentence into indirect speech)
(A) He asks me to wait until he came. (B) He told me to wait until I came.
(C) He ordered me to wait until he came. (D) He asked me to wait until I had come.

._#*Nature teaches the beasts to know their friends. (Change the sentence into Passive Voice)
(A) The beasts are taught by nature to know their friends.
(B) The beasts are taught to know their friends.
(C) The beasts were taught by nature to know their friends.
(D) The beasts taught to know their friends by nature.

28. Answer the first question before you further.
(A) proceeded (B) proceed (C) have proceeded (D) are proceeding
}Youth is the time the seeds of character are sown. (Pick out the correct Connector to
fill up the gap)
(A) where (B) in which (C) when (D) that
30. Find out the one of the following series of Vocabularies which does not match with the others.
(A) sweet, sour, salty, bitter L (B) fat, tall, dwarf, short
(C) green, red, yellow, violet (D) grain, rain, pain, chain

\Vifhat would I not give to see you happy! (Change the sentence into a statement)
(A) He assured that he would not withhold but give everything to see me happy.
(B) He exclaimed that he would give everything to see him happy.
(C) He wondered that he would give everything to see me happy.
(D) He declares that he gives everything to see them happy.

- 32.Read the following sentence and pick out the underlined part which is neither a Noun nor a

Pronoun.
A small leak may sink a great ship and all the men on board.
(A) ®) ©) D) .
33. The rise and fall of the tide due to lunar eclipse.

(A) were (B) was (C) are (D) is
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1 Armstrong was first man to walk on moon. (Pick out the correct Articles to rectify the
34. Neil Arms

sentence if required)

D) none of these
(A)the & & (C)a & an (D)

(B) an & the

35 ﬁghts and runs away, lives to fight another day. (Pick out the correct Connector

to fill up the gap)

(A) that (B) when (C) who (D) whom

36. Find out the correct one of the sentences given below.
) /(j%) He is suffering from a fever since three days.
(B) He has been suffering from fever for the last three days.
(C) He has suffered from a fever from last three days.
(D) He was suffering from fever for the last three days.

37 His health has improved since he India. )
(A) left (B) has left (C) had left (D) was leaving
38. The thief jumped the compound wall. .
(A) on (B) over (C) above (D) against

39-No other story-book is so popular as The Arabian Nights. (Change the degree of comparison
without changing its meaning)
(A) The Arabian Nights is the most popular of all story books.
(B) The Arabian Nights are more popular than some other story books.
(C) The Arabian Nights is one of the most popular story books.
(D) The Arabian Nights are more popular story books.

&‘Match the Words given under Column-I with the Meanings given under Column-II.

S1.No. Column-I Column-II

1. Indispensable 1. contrary to principle but useful for specific situation
2. Expedient ii. done mechanically without care and interest

3. Perfunctory iii. something that cannot be avoided

4. Scrupulous 1v. careful of not doing anything wrong or immoral

(A) L-iii, 241, 3-ii, 4-iv (B) 1-ii , 2-iv, 3-iil, 41 (C) 1-, 2-iii, 3-iv, 4-ii (D) 1-iv, 2-ii, 3, 4-iii

Instructions: Read the following passage carefully and“pick out the most appropriate one of the four
answers provided as A, B, C & D to the questions from Serial No.41 to 50 given below.

PASSAGE: It was a man who lived before the time of Christopher Columbus, who was the world’s first
great traveller. His name was Marco Polo. With his father and his uncle, he travelled from Italy to China,
crossing mountains and deserts to get there. In China, a king called Kublai Khan was pleased to see the
Polos and had them live near him. They stayed for twenty three years. Kublai Khan sent Marco to other
countries to do business for him. When Marco finally returned to Italy, he wrote all about his adventures in
a book which was read by Columbus and many other people who also became interested in travelling to
unknown countries. ' :

~41. Identify the type of Infinite Phrase used in the underlined part of the third sentence of the passage.
(A) Adverb Phrase (B) Adjective Phrase (C) Noun Phrase (D) Principal Phrase

42.Which of the following verbs has not been used in the fourth sentence as Finite Verb? ;
(A) pleased . (B) had (C) live (D) none of these
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43. We know from the story that after he returned to Italy-
(A) Marco set out for a new adventure to other countries of the Far East.
(B) Marco brought out a book on his great adventures inspiring new voyages.
(C) Kublai Khan knew that Marco had crossed mountains and deserts.
(D) Marco stayed in Italy for twenty-three years

44. Tdentify the type of Sub-ordinate Clause used in the underlined part of the last sentence of the passage.

(A) Adverb Clause (B) Adjective Clause (C) Noun Clause (D) Principal Clause
45. Where did Marco Polo stay for 23 years?

(A) Italy (B) China

(C) Other Countries (D) Unknown Countries

46. The reason that Marco Polo is called great is that-
(A) He achieved fame thanks to his good reasoning.
(B) He travelled very far to reach China, a new world.
(C) He wrote about his adventures in a book which many people read.
(D) He crossed mountains and deserts to reach China.

47. Who was the world’s 1% great traveller?

(A) Christopher Columbus (B) Marco Polo
(C) Kublai Khan (D) Father of Marco Polo
48. How many Simple Sentences are there in the passage?
(A) two (B) three (C) four (D) five
49. This passage is mainly about............ ? '
-(A) Marco Polo and Kublai Khan (B) the way Columbus affected Polo
(C) the world’s first great traveller (D) why Polo went to the Far East

50. Which of the following verbs has been used in the third sentence as a Finite Verb?
(A) travelled (B) crossing - (C) get (D) none of these
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F6R4IRRT: ﬁf} YO BP6RA0Y A9 ALRIEA AP 9 OF 96r TALIRYSI gy QG 51 9 60Q
QRUYS Q8 G KQg |
6alonge aefem 6AITN g2l A2A6Q | QITea saisan) 691G @65I1 TS | 99D 609
@ 0RQ 629 | F64IR1 @2, 98, 21T TG QS 2 Ag9q EMag A8 9269 | ¢ 16Q 691 QIR
AR ARQ FIY 689 QRS | A8 9891 AT O] A096q 6rad | @3 98 9QQIQ 67d @
QIR 671 AR TR 2A6A GRLER | ALR6Q 9IBUEE QTR 69 6dlenge 21ded | 98 69Q0
QEIFl 63RRER 60K YAl AA 98 6ARIR! | A2 oM g emIe G dIFea QTR |
SLAIER Q6T AQEAI @6M ALIFY, 7T @29 | 2167 298w 01 &8 98919 Qg 621 933 |
9% 926, € 938 | 92l @ 6Q QAR QI GIFRT | 620160 TR ERIGET FEQ K64
L6M - 62, AL, 2AQE QIQQ AV Q82 ? N0G ALAQ A9 FSUAIRY 6RI8 QUTE 2SS |
9% 946N - Il Q6 | @g A1 AIE 9 A2ag 2138 63 ¢ 91T | I AAUER 6I0IER
ALESIR €8IS BT 9Q° qBn — 9% 6610 TA IR¢ 6N | ¢ OF 2AE 661l AT 2T
@0ES | @9 ¢ QISeR 6a 2108 60l QG 2609 9569 ? -
640160 gal enie 2@ Q06 | 968 2R — QITR, @ F'E ARIGIET 2
98 QI6M — 6 O] AITA! | 68 6Ig R2AIg 729 | T2l 659 61T @3l — q S1deR aad
61 RIS 2607 QR | ARG ¢ AR AIF 6965 ad 6B *AE | 671 QA 695G 6a6R 9Ia
Q¥ ¢] 6A6R0IQ TS 69gaIG 6 2SI JEQ A6AN K@ QTR | 6711 AV 6QRIFI 94
QEQ 2R 62MId | 66¢) ¢ MITER 21 67l AT 26T A6 |
98 @uem, 82, 9671 0] QRAIgE | 6976 Al ol 6l AISg AIF aeBel QaRIe, 6AAS
Q91 Qlsica ¢ a8l 9aRI9, 621R ¢ 1 A2ag 2IT8 | ¢ 6eer gra AIF 1 9eaq 2138 | 6aie &2
2IgQ 69x 9Ll R sdAGR! |

-

186018 QI946R 6aYIEE 606 985 ATRIA g6 526 @9 |
g qom. 2196 6al RIS 2608l 9088 |
A) B © @)
52.¢g dgiql, 2194 SI2IG 26T REEE ? I8 ANITER RS AL AQ?
@A) ® © O
53. 5106g@56q 2GIAEI RAINIRESI F9 AIVGTA ARA & & ?

/ (A) AFIRER F6aIaN FedIQ ARG AGRIRIR 694l |
(B) APISQ Q7B Q6 6AIAG AAIF ADHIQI GAIF KA |

(C) 2ABBRAEER SIFZISI SRIGF-SISQ IGQETREQ |

(D) 6816 2TAR QIR AAAAIGG 2RI 621 |
QI8 Geio
54. caie @2 2IgQ 699 901 g2 FAATR I- IE QIRYQ 6SITE aT60 a0 FaB €196 6

Q| . oyl
ONEA oY B) 9gal (C) Q81
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(A) A2 9R 6AAURE ALY 21T Q& FIREA TN 62R%6M |

(B) 6971168 FIFOIQ FAQIG Qg AN T AR B8 0Te6R |

(C) AL9Q FGHAIRY ARG 6RIP ARIAIE G471 AR6Q AATS 26 |

(D) AP 6RIR GIF FARIQ QIgEIR ARYRICRER 9B AR AIBIG OI2 ATe6n |

°%/32C QaIgnea aeBQIasa QF 621R2S! 6AIKAIER Qaq 2d 06 ?
(A) TS FRC6Q ANLREA ALEIQ 6AIRAIEE 24 Q06 |
(B) "¢] SIS 6Q 2198 6711 AT LAY KG6S"- ¥Rl T2UT 98g *2QIQ |
(C) "RIEQ, @ V'€ AQAQUN?"- I0E ARYRQ F6Q K2R, A6 236 |
(D) 6215 TG 987 AFE QI ARH QARG 62IQ AC1EY 2T6M |

f’} Q200 F6AI1 29 FI2G 69107 9aT A6AT ARG FERI?

(A) 62 GRER FINRQRIR QIAIF AR HILY EFRAIRYR |

(B) 3RQ 6T0Q160 QI6R R 629 622 aeasam@@l@ Qe |
(C) 91R @d QYR 99 62YaIg 8 §aAlq 6 26aN KRR |

(D) 691361 Q85 64 AFC AR AIRAN I9° Bl 2l GAIF FARIQ SR |

58. QeaIan Q@M ‘9R, A FEC R 2IF AR CRING @8 26" |- YT AETY A6 26
ARRER Q9 |
(A) F6SIQ1 @AM 64 9F GELG @I6Q 2P AR CRING &8 /269 |
(B) @640 QERI 60 9F, 2IAS FEG QER 2IFl ALQQ ARG 78 FF6R |
(C) @681 9BG K& 28 GEG BI6R 6AAIRE ALAQ 6RIRG @8 @26 |
(D) @641Q1 gag S2AI 64 38 QIS 61 G ATAA EAING @8 @L6Q |

59. qeqq CRIRFIGE GEal A6Q FIER AZIFY R QI AIRA RARLER ?
(A) 2209 GIGHAIRY ATY 6RIF AVIRG 2LQUQ 62 ACTA KRRYER |
(B) A20q A9l Q160 6adl 621RYQl AT 6 U6AA QQEM |
(0) BaAGa ageal QAIRARI] FQIF §F @Eal 2IaR 96 @ gem |
(D) @6slIa 2T & @l@l@i QIR ANLRY A @ Y |

60, qeqcq GIaRIEe QUdaR 60 616N 21E8 I- 1al 696 gRia QIqY Ada @4 |
/ (A) AR (B) 69151 (C) /oR (D) 6@161QE Q6
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61,/6FaI6a @6, AGARE:, YRR, 6RIAUYS IS AR FRIEA 6T 6RSN 45 FIRIsIe add | (42

'/cac”)@ AN AIVBQ 5L FQF)

(A) A mandal jail exists in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha.

(B) There is one Circle jail each of Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam
districts of Odisha.

(C) A mandal jail is there in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha.

(D) There was a jail circle in Cuttack, Mayurbhanj, Sambalpur, Korpaut and Ganjam districts of
Odisha. m09

%@e@@ QR AIATIAG 650 691N AGR FIAITIA FOR FAILIRAT 1(N2IQ A0R AT AITIS §2E @03)
(A) Mandal jail has been built above some district jails.
(B) A district jail has formed with some mandal jails.
(C) A _Circle jail has-been constituted with some dfstric’t jails. %/
ircle ofjailhave constructed for some district jails. _
F64I AMANGT (I 48 QG oo g | C Y 2ol5
(A) IGAIR 6@ TRIFIeEa Q10 aglea 2192 QI | @5
(B) AITRIR 6342 TRIQ QIO 9QIEq 2L A1 | a Q/ﬂg\
Jerifan eqlad Sniciesa Qio aeiee 2ige a1 | g 19258
(D) IFAIR 651619 TAIQ AI0 ALI6A 2GR 9IF |
67%”@@@8 QU9 AAARIIANRG ARSI QAEI69TS TR ALR FIRTREA ASIAIRAN | (NIQ A0R QIS
o)

INBQ LG 9G) _ ,

(A) Generally, serious offenders are kept in the circle jails for better upkeep. <
(B) Hardened criminals are kept in circle jails for better maintenance.
(C) Persons with serious crime are always housed in mandal jails.

(D) Casual criminals are normally kept in the circle jails.
65. 3¢ Age 9 FAIRE Pl 6963 99 AAIAQ AGIR04 Q6% 926 @Q |
(A) gaIge] (B) AR (C) RQ9@ (D) @#G
\/6/@6?}!@ J2 6AIBAIRE FRIQ 690G ANAIRT AZC 6017 62 AIE 596 aQ |
(A)2IeQiag - adel  (B) Q0214 - @a2de  (C) JeRIa - J6T@SI (D) - 9]

°7- 933918 @Idiaen, GAIQ ¢ 499 B6R | - 12 QINEA 6ATIRE 66l 99T AQMTR Gl ?
(A) (B) © D i -
68 6an JAIARQ AGRIRAI QK] AARIAE JE YR QUER Q48 AT | (YR A0 AR AV 29 F9G)

(A) Jail administration is vested with Home Department. 7=
(B) Management of the jail administration vested with Home Department.
(C) The management of jail administration is vested with the Home Department of Government.

(D) The charge of jail administration lies with the Home Department of Government.
fg/ﬁea@ ARTERATNRE FRIQ 6R6C6a gF 0@R Ada aa |

(A) 9 H A1 F el (}y@‘a + Q@I = ;iaual
o ©eq+aq=aae -~ ) (D) 98 + 9al = Q8]

SRy

T
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1 qoiries GAGIGEAE Bl JEBHR ARIGA BAIT SASIN bRl GiaKaia 23 | (126 a0 et aimiza 596«

QQQ) . - -
(A) A jail is there in all district to keep the jailors.

(B) There is a prison in every district to preserve the jai.lors.,
(C) Every district has a district jail for the upkeep of the prisoners.
(D) All districts have district jails for maintenance of the prisoners.

Section - D : Mathematics & Reasoning : 30 Marks

71 The average age of the three boys is 15 years. Their ages are in the ratio 3:5:7. Then what is the
<" age of the oldest boy?
SealE Qloae el 90 15 ad | 6aRIRE @U2R AgAIe 3:5:7 | 6869 A3Q Q9% AR 90Q
e@EL ?
(A) 7 years (B) 14 years (C) 20 years (D) 21 years
72. A candidate scoring 25% in an examination fails by 30 marks and another. candidate whg scores
50% marks gets 20 marks more than the minimum required to pass. Find out the minimum
percentage of mark required to pass the examingtion. i .
6QITN ORINIER 968 QIS 25% e QY 30 FIF I 6T CIM IS° AR K66 50% QY AT AIQ AIR0IQ
20 €IS 22 QYA | 696@ AIA KRR Al ASRE) 6768 GBS AIF aRIa Hda @a|
(A) 20% (B) 80% (C) 40% (D) 50%
73. An alphabet series is given with one alphabet is missing. Choose the correct alternative that will
continue the same pattern and replace the question mark in the given series A, E, J, P, W, 2.

96 Q4AIR1 §FI6Q 6Tl 2VQ QARS Q12 | A0 aE ANE Fda KA ITIR 6T G7q O QY@ Ie° A,
E,J,P, W, ? 9@ @760 QI Q4109 52q 90en @QdIQe |
A)Q ®)C (OE D) G
74. Find the value of a*+b*+c3-3abc when a= 225, b = 226, ¢ = 227.
A a =225, b =226, c =227, 696%, a*+b*+c*-3abe A FJY GEIG AR |

(A) 2304 (B) 2430 (' (D) 2340
75. The cost price of an article is 64% of the marked price=What will be the percentage of profit after
allowing a discount of 12% on the marked price?
6QlITN @RVQ Q4 MY AGIS AR 64% | AYS NI QAR 12% A1 6TRITER F0RT! AIR 6RES 6297
(A) 37.5% (B) 48% (C) 50.5% (D) 52%
76.Rs.1200 amounts to Rs.1632 in 4 years at a certain rate of interest. If the rate of interest is
increased by 1%, it would amount to how much? _
6RI163 Fae QM 2RER 1200 071 4 @F6a 1632 OF1 g9 | 98 QPIA 2R 1% QF QAN AV OFT 6R6S
oqIg Q& ea?  /
(A)Rs.1635  //  (B)Rs.1644 (C)Rs.1670 (D) Rs.1680

77. Qut of the five fi éures given below find out the one which mismatches with the others?
G gaa 9156 SerInT AUQ 699 985 BIRY CIEAIT SRAIRE AT AR 6208 I 355 @A |

7 oo - J- 3o 7 Spw

&

T [ | I O [ O R 1 L

s ((@ 3 4 g IS Fe s

t .-
.
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78. A sum of money is to be divided among A, B & C in the ratio 2 : 3 : 7. If the total share of A& B
-together is Rs.1500 less than that of C, what is A’s share in it?

G5 oFIg A, BB C A6a 21 31 7 AGUNSER Q41 @QQIQ 629 | 9@ A BB @ @19l §18 C @ QU60IQ 1500
O @€ B, 6969 A Q WGl 8Q6e ?
(A) Rs.1000 (B) Rs.1500 (C) Rs.2000 (D) Rs.2500
7 If a sum of money at compound interest amounts to its thrice in 3 years, in how many years will it

be 9 times of itself? (
9@ 663 ARUR 9T PICA BI'A GAGE §9, 656Q 6aES V6 CIF CI'A 9 6 6297

(A) 12 years (B) 6 years (C) 9 years (D) 15 years

80. The average age of A & B is 20 years. If C were to replace A, the average would be 19 years and
if C were to replace B, the average would be 21 years. Then what are the ages of A, B and C?

A BB & AR 99Q 20 AF | 97 C, A 99R6Q 962 6IFIRE 2RILE 20 19 @8 I9° UG C, B Q 29961
96T, 6AAIRT 2IRILAT 20QA 21 98 94 | 666@ A, B 8 C & 90 60667 0
(A4)22, 18,20 (B) 18, 22, 20 (C)22,20,18 (D) 18, 20, 22 p W\Q\
81. Exactly one number is wrong in the series 3, 9, 21, 45, 93, 191, 381. Find out the wrong one. )
39,21, 45,93, 191, 381- T QAI6Q 611G QG| QN AT | 637 QA A°HIT 69957
A)3 (B) 21 (C) 93 (D) 191

o R_aghl.ljogged 2 KMs southwards, then he turned right and walked and jogged 8 KMs. In which
direction was he seen moving last?

Qg @8 T9Iq 2 &4 67161, eI'asa 6a QIRI9g Ga ABQeR Ml 1e° 8 @ 6TIBAI | 9T6R 699 TT6R 64
QRREYQN QMR | i
(A) West ' (B) North (C) South (D) East

83. The LCM of two numbers is 39780 and their ratio is 13:15 .Then what are the two numbers?
986 Q°aHIQ MAIG 39780 N9° 6AAIRGA AFAS 13 15 , 6661 64T QWU 9AT 6966 ?

(A) 2652, 3060 (B) 273,315 (C) 585, 675 (D) 2562, 6030
84.In a certain code BOND is written as 9035 and DAZE is written as 5@72. How is ZONE written
in that code? '
6164 ACFER AUFIEQ BOND § 9035 N9° DAZE § 5@72 QI6S SRYIAN | 638 Q6889 QINISQ ZONE
q @R ANYIRAAIRS ?
(A)2073 (B) 7023 (C)7032 D) @732

85. A, B and C start a business, each investing Rs.20000. After 5 months A withdraws Rs.5000, B -«
withdraws Rs.4000, and C invested Rs.6000 more. If at the end of the year a total profit of
Rs.69900 was recorded, what is the share of B?

A, B 8 C g6246@ 20000 1 6GIN @R6I5 @ 691G QUQQl 2iar @98 | 5 19968, A, 5000 6F, B,
4000 6&1 gRYIRIQ SACIEM 92° C, 6000 S 2R FF6AIT ARl | 98 QF 68V6R 61T 69900 TF AN 9\,
6969, B Q Q19 6060 6297

(A) Rs.20500 (B) Rs.21200 (C) Rs.27300 (D) Rs.28200

8. In a mixture of 60 litres, the ratio of milk and water is 2 : 1. If the ratio of milk and water is
required to be 1 : 2, what amount of water has to be further added to the mixture? .

N9 60 Qeq FE6Q V1A B @R AGAIG 2 : 1 | TR 8 FRQ AQAIG | : 2 FARIY IR 686E AQAANS &7 ‘5
ARQIg 6aq 2 .
’ tres
(A) 42 1itre (B) 56 litre (C) 60 Litres (D) 77 1tres - )
| - o

: ; Ly
rﬁ‘b %% O o & wk ks Vavelaa ﬁL’X el O/L



GKEOM-JW-17 / B / Page 14 of 16
4
87. Find out the Square root of 105 =

4 g odae fda ea |
105, Q QGIF)

12
(4155 Bl ©107 (D) 62

88. Triangle represents School Teachers. Square represents married persons. Circle represents

persons living in Joint families. So, what represents the married persons living in joint families
but not working as school teachers?

691 goa 5960 e Yn SR gETYR Q6 | QE6RIE A9IRe QYBG 9TFR Q6 | 9RPY RIRd
adQIasR AgYS BT GO | 6969 IRIRET AALIRER 92 7F IR TR 621R @ 49 FAIFe NG G

gotRQ SQRIT?
(A)F (B) A QY2
T©Oc¢ (D) D d

| 89. The sum of the digits of a two digit number is 12. If the digits are reversed, the number is
decreased by 18. Find out the number. "

‘ 4@ 99 U Q8] THIQ UFAIRE ANT 12 | 98 A AIF A9 TR RN, °HYIT 18 QAN | 6969
/ QIS 6687
i{ (A)75 (B) 93 (C) 84 (D) 57

90. A certain sum of money at simple interest amounts to Rs.1260 in 2 years and to Rs.1350 in 5

years. What is the rate percentage of interest per annum?

61T PR AAR PIINEA 2 QTER 1260 GF1 9Q° 5 A¥6Q 1350 O 94 | 6668 QTS QIR 2 H0R6!

e@ee ?

(A) 2.5% (B) 3.75% (©) 5% (D) 7.5%
91. The difference between the compound interest and the simple interest on a certain sum of money
* at 8% per annum for 2 years is Rs.4. Find out the sum.
, QIER 8% 2A6Q 2 AT6Q 671 GAUAR 0GR QI B AR P AEA AR 4 6F1 | FRe ABAIE Fda
1 @ | =
(A) Rs.625 . (B)Rs. 1260 (C)Rs.312.5 (D) 651635 g6s
, 92. If x +y = 1, what is the value of x>+ y> + 3xy?
\jatﬁ x+y=1,606Q, x*+y +3xy Qa4 68667

(A) -2 (B) 1 ©)2 (D)3

93. X is the sister of Y. Y is the brother of Z. Z is the husband of P. O is the father of Y. How P is
related. to O?

Y 6 @@81 X 2691 Y, Z Q@R 2651 P QUA16288 Z 1 0, Y QQI1AI | O Q26 P Q AR @ §1?
(A) Sister (B) Daughter-in-law  (C) Daughter (D) Uncle
94. Good Conductor : Copper : : Bad Conductor: ?
" (Select the appropriate word from the alternatives given below to fill up the gap/F6AIB a8 AIR
3G e Q¢ SAaIGEe 596 @9 )
FIIQ 6RRG G QIR TS o by .
(A) Iron (B) Aluminium (C) Woo

;
3
i
4
1;
i

9. How many meaningful English words can be formed with the Letters-ATME?

ATME — T 2FQFIRG QIS2IR 98 6a6816 2G4 ralst 8 EasiIR QRa? 4
Syl )2 (©3 ®

'k 4
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96. Find out the greatest number of three digits which when divided by 3, 4 and 5 leaves no remainder.
56 e 699 QLA QEIT Fa @x, AIRIY 3, 4 B 5 TR ATAER 69T QUTEES Q2Q QIF |

(A) 960 (B) 860 (C) 690 ) 680
o Two numbers are respectively 20% and 50% more than a third number. What Percentage is the

first of the Second number? |
g QUetl, 691N @16l AR F2AFEF 20 % 9Q° 50% 2049 1 6569 929 B T, g o
goeae 6297 et ’

(A) 60% (B) 70% ©80% .. . \JP.

98. Identify the correct one of the Answer F igures from which the pieces given in the difestiom

Figure have been cut? _
996 990 9eAIRT YR 636 099 g4 Ogsa aike 08 S9AIR SRIKIRIE G2l Hda o |

A

Question Figure® *
r(:’ AR B C D

HED ‘
WF ®)A ‘©c D TV
99. The profit earned by selling an article for Rs.832 is equal to the loss incurred when'the same
article is sold for Rs.448. What should be the sale price of the article for making 50% profit?
6l 9gQ 748 owIEq SRR 6958 9 249, 6rq 832 GGI6R AR6R 6T IR 249 | 686R,50% QIR
dIRIg OrQ Qe Iy e@6Q AYRIQ 629 ? N ; & o= ’
(A)Rs.960 (B) Rs.1060 (C) Rs.1200 ~ (D)Rs.920
100. A reduction of 20% on the price of mangoes enables a p'ersoﬁ to purchase 12 more for Rs.15..
What was the.price of 16 mangoes before the reduction of price?
2l 2R 20% glg\sszgmal F681 Q4B 15 OFIER AR 12 § 27 F8RIg adl 94 | @a 216 geg 16 &
UG @€ gl ?
(A)Rs.5 (B) Rs.6  (C)Rs.7 (D) Rs.9

Answer Figures

1

KEPT INTENTIONALLY BLANK

LREREX B USE FOR ROUGH WORK

15 17
1.0






